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1. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ÜÍ¬ÛÜ©Û¾ÛÛ× …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ÈÛé¸ÛÛÁõ …ÜÍ©Û©ÈÛ¾ÛÛ× …ÛÈÛé ™öé ? ÉÛÛ ¾ÛÛ¤éø ? …ÛïèõÜ©Û¶Ûà 

¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé.   14 

 Under which of the following conditions does International Trade take place ? Why ? 

Explain with the help of diagram. 

 (a) ÍÛ¾ÛÛ¶Û ”Û˜ÛÙ ©ÛºõÛÈÛ©Û  
  Equal Cost Difference  

 (b) Ü¶ÛÁõ¸Ûé“Û ”Û˜ÛÙ ©ÛºõÛÈÛ©Û  
  Absolute Cost Difference 

 (c) ©ÛäÅÛ¶ÛÛ©¾Ûïõ ”Û˜ÛÙ ©ÛºõÛÈÛ©Û  
  Comparative Cost Difference 

     …¬ÛÈÛÛ/OR  

 (a) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ÈýÛÛ¸ÛÛÁõ¶ÛÛ Ü¶ÛÁõ¸Ûé“Û ÅÛÛ½ÛÛé ÍÛ¾Û›ÛÈÛÛé.  
  Explain the absolute advantages of International Trade. 

 (b) ÈýÛÛ¸ÛÛÁõ¶Ûà ÉÛÁõ©ÛÛé¶ÛÛ× ÜÈÛÜÈÛµÛ ”ýÛÛÅÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  
  Discuss the various concepts of terms of trade. 

 
2. ÍÛ×Áõ“Û¨Û¶Ûà ©ÛÁõºéõ¨Û¶Ûà (1) ¼ÛÛÇŠ²Ûé•Û …¶Ûé (2) ÁõÛé›÷•ÛÛÁõà …×•Ûé¶Ûà þùÅÛàÅÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  14 
 Discuss : (1) Infant Industry and (2) Employment Arguments in favour of protection. 

    …¬ÛÈÛÛ/OR  

 ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ 
 Write short note on : 

 (1) ¤Öøà¸ÍÛ (TRIPS) …¶Ûé ¤Öøà¾ÍÛ (TRIMS) 
  TRIPS and TRIMS 

 (2) •Ûé¤ø (GATT) …¶Ûé ½ÛÛÁõ©Û  
  GATT and india 
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3. ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ …é¤øÅÛé ÉÛä× ? ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ¶Ûà ¶ÛàÜ©Û¶Ûà ©ÛÁõºéõ¨Û …¶Ûé ÜÈÛÂú±ù¶Ûà þùÅÛàÅÛÛé 
ÈÛ¨ÛÙÈÛÛé.    14 

 Define Fixed Exchange Rate and describe the argument for and against the Fixed 
Exchange Rate Policy. 

               …¬ÛÈÛÛ/OR  

 ÜÈÛÜ¶Û¾ÛýÛ þùÁõ Ü¶ÛµÛÛÙÁõ¨Û …×•Ûé¶ÛÛ ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ¶ÛÛ ÜÍÛ±ùÛ×©Û¶Ûà ÍÛ¾Û›æ÷©Ûà …Û¸ÛÛé.  
 Explain the theory of demand and supply for the determination of Rate of Exchange. 

 
4. ÍÛ¾Û›ÛÈÛÛé ƒ    14 
 Explain : 

 (a) ÈÛé¸ÛÛÁõ©ÛäÅÛÛ …¶Ûé ÅÛé¨Ûþéù¨Û©ÛäÅÛÛ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û  
  Difference between Balance of Trade and Balance of Payments. 

 (b) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¾ÛÛ× …ÍÛ¾Û©ÛäÅÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé  
  Causes of disequilibrium in balance of payments. 

    …¬ÛÈÛÛ/OR  

 ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶Ûà ”ÛÛµÛ þæùÁõ ïõÁõÈÛÛ¶ÛÛ ¶ÛÛ¨ÛÛ×ïõàýÛ …¶Ûé Ü¼Û¶Û¶ÛÛ¨ÛÛ×ïõàýÛ Š¸ÛÛýÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  
 Discuss the monetary and non-monetary steps for the removal of deficit in balance of 

payments. 

 
5. (a) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé  ƒ  10 
  Choose the correct option : 

  (1) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ÈÛé¸ÛÛÁõ¶ÛÛé ÍÛÛµÛ¶Û-¸Ûó¾ÛÛ¨Û¶ÛÛé ÜÍÛ±ùÛ×©Û ________ …Û¸ýÛÛé ™öé.  
   (a) ¸ÛóÛé. ÜÁõïõÛ¦øÛë 
   (b) ¸ÛóÛé. ÐéüïõÍÛÁõ-…ÛéÐüÅÛà¶Û 
   (c) ¸ÛóÛé. ¸Ûà•Ûä 
   Factor Endowment theory of International trade is given by _______ 
   (a) Prof. Ricardo 
   (b) Prof. Heckscher-Ohlin 
   (c) Prof. Pigu 

  (2) ÈýÛÛ¸ÛÛÁõ¶Ûà ÉÛÁõ©ÛÛé¾ÛÛ× ÍÛ¾Û©ÛäÅÛÛ Ü¶ÛµÛÛÙÁõà©Û ïõÁõÈÛÛ ¾ÛÛ¤éø ¸ÛóÛé. ›÷é.…éÍÛ. Ü¾ÛÅÛé _________ ¶ÛÛé 
”ýÛÛÅÛ Áõ›æ÷ ïõýÛÛë ™öé.  

   (a) ¸ÛÛÁõÍ¸ÛÜÁõïõ ¾ÛÛ×•Û  (b) ÍÛÛµÛ¶Û ¸ÛÜÁõ¾ÛÛ¨Û (c) ¾ÛÛ×•Û-¸ÛäÁõÈÛ¥øÛ 
   The term ________ introduced by Prof. J.S. Mill to explain the 

determination of the equilibrium in terms of trade. 
   (a) Reciprocal demand 
   (b) Factor-Endowment 
   (c) Demand supply 
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  (3) “•Ûé¤ø”¶Ûä× …Û¥ø¾Ûä× ÁõÛŠ¶¦ø _________ ÁõÛŠ¶¦ø ©ÛÁõàïéõ …ÛéÇ”ÛÛýÛ ™öé.  
   (a) ŠÄõ•ÈÛé (b) IMF (c) ¾ÛÛÉÛÙÅÛ 
   The eighth round of GATT is known as _________ round. 
   (a) Uruguay (b) IMF (c) Marshall 

  (4) ÜÈÛÊÈÛ ÈýÛÛ¸ÛÛÁõ ÍÛ×•Û¥ø¶Û (WTO)¶Ûà Áõ˜Û¶ÛÛ ¾ÛÛ¤éø ________ ÁõÛŠ¶¦ø ¾ÛÐü«ÈÛ¶Ûä× ¸ÛäÁõÈÛÛÁõ 
¬ÛýÛä× ™öé.  

   (a) œ÷¶ÛàÈÛÛ (b) ŠÂú•ÈÛé (c) ˜Ûà¶Û 
   It was ________ round which ultimately led to the formation of the World 

Trade Organization (WTO) 
   (a) Geneva (b) Uruguay (c) China 

  (5) (WTO) ÜÈÛÊÈÛ ÈýÛÛ¸ÛÛÁõ ÍÛ×•Û¥ø¶Û¶Ûà Í¬ÛÛ¸Û¶ÛÛ ________ ¾ÛÛ× ¬Ûˆ.  
   (a) 1990 (b) 1995 (c) 1998 
   World Trade Organisation (WTO) came in to force from _________. 
   (a) 1990 (b) 1995 (c) 1998 

  (6) ¾Ûäî©Û ¼Û›ÛÁõ¾ÛÛ× ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ ÜÈÛþéùÉÛà Ðä×üÜ¦øýÛÛ¾Û¨Û¶ÛÛ ________ ³ùÛÁõÛ 
¶Û‘õà ¬ÛÛýÛ ™öé.  

   (a) ¾ÛÛ×•Û (b) ¸ÛäÁõÈÛ¥øÛ (c) ¾ÛÛ×•Û …¶Ûé ¸ÛäÁõÈÛ¥øÛ 
   In a free market, the Flexible exchange rates are determined by ________ 

of foreign currency. 
   (a) Demand (b) Supply (c) Demand and Supply 

  (7) ÍÛ¾Û”ÛÁõàþùÉÛÜî©Û¶ÛÛ ÜÍÛ±ùÛ×©Û ¾Ûä›÷¼Û ÍÛ¾Û©ÛäÜÅÛ©Û ÜÈÛÜ¶Û¾ÛýÛþùÁõ ¶Ûà˜Ûé¶ÛÛ ÍÛæªÛ¶Ûà ¾Ûþùþù¬Ûà 
ÉÛÛéµÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé :  

   According to Purchasing power parity theory to calculate the equilibrium 
exchange rate the following formula is used : 

   (a) Rt = Rt1 × 
P1

P2
 (b) Rt = Rt0 × 

P1

P2
 (c) Rt = Rt0 × 

P2

P1
 

  (8) ________ ¶Ûà ¸Ûó¬ÛÛ¾ÛÛ× ÜÈÛþéùÉÛà Ðä×üÜ¦øýÛÛ¾Û¨Û¶Ûà …¶ÛÛ¾Û©ÛÛé ÁõÛ”ÛÈÛÛ¶Ûà …ÛÈÛÉýÛïõ©ÛÛ ÁõÐéü©Ûà 
¶Û¬Ûà.  

   (a) ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ 
   (b) ©ÛÁõ©ÛÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ  
   (c) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛ þùÁõ  
   Under the system of ________ there is no need for foreign exchange 

reserves. 
   (a) Fixed exchange rates 
   (b) Floating exchange rates 
   (c) Flexible exchange rate 
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  (9) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶ÛÛ _______ ÜÈÛ½ÛÛ•Û ™öé.  
   (a) 2 (b) 3 (c) 4 
   (BOP) Balance of Payments has ________ accounts. 
   (a) 2 (b) 3 (c) 4   

  (10) ÅÛé¨Ûþéù¨Û¶Ûà ©ÛäÅÛÛ¶ÛÛé ÜÐüÍÛÛ¼Û ________ ¶ÛÛ ÜÍÛ±ùÛ×©Û ¾Ûä›÷¼Û ÅÛ”ÛÈÛÛ¾ÛÛ× …ÛÈÛé ™öé.  
   (a) …éïõ ¶ÛÛêµÛà ¶ÛÛ¾ÛÛ ¸Û±ùÜ©Û  
   (b) Ü³ù¶ÛÛêµÛà ¶ÛÛ¾ÛÛ ¸Û±ùÜ©Û  
   (c) Š¸ÛÁõ¶ÛÛ¾ÛÛ×¬Ûà …éïõ¸Û¨Û ¶ÛÐüá   
   The balance of payments account is written on the basis of the principle         

of _________. 
   (a) Single entry book keeping 
   (b) Double entry book keeping 
   (c) None of the above 

 (b) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ÍÛÛ˜ÛÛ× ™öé ïéõ ”ÛÛé¤øÛ ©Ûé ›÷¨ÛÛÈÛÛé.  4 
  Determine that the statements given below are true or false : 

  (1) ¸ÛÛÁõÍ¸ÛÜÁõïõ ¾ÛÛ×•Û ¼Û×¶Ûé þéùÉÛÛé¶Ûà ¸ÛÁõÍ¸ÛÁõ¶Ûà ÈÛÍ©Ûä¶Ûà ¾ÛÛ×•Û¶Ûà ¾Û›÷¼Ûæ©ÛÛˆ …¶Ûé ¾ÛæÅýÛ 
ÍÛÛ¸Ûé“Û©ÛÛ Š¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé.  

   Reciprocal demand depends upon the strength and elasticity of each 
country’s demand for the other country’s product.  

   (2) ¾Ûäî©Û ÈýÛÛ¸ÛÛÁõ ºäõ•ÛÛÈÛÛ¶Ûä× ÍÛ›÷Ù¶Û ïõÁéõ ™öé.  
   Free trade leads to monopoly. 

   (3) ›÷ïõÛ©Û …é …ÛýÛÛ©Û …¶Ûé Ü¶ÛïõÛÍÛ ¬Û©Ûà ÈÛÍ©Ûä…Ûé ¸ÛÁõ¶ÛÛé ïõÁõ ™öé.  
   A tariff refers to import duties and export duties 

   (4) ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ ÜÈÛÜ¶Û¾ÛýÛþùÁõ …é¤øÅÛé …ÜÍ¬ÛÁõ ÜÈÛÜ¶Û¾ÛýÛþùÁõ 
   Flexible rate of exchange means unstable exchange rate. 

__________ 


